3:IT€{5? YA9A/ Model Que. Paper : 1/22-23/ 3Tt /
ECE b 9eM-98 / Vedabhushan First Year/
9o / Year 2022-23

faeg - i
Tel foheq & A (v) Fag e/ Mark (v) against the correct option 10x2=20

1. 2,97 3% G 994 IS Gad I<1 &1 &R

The largest number that can be formed from the digits 2, 9, 7 will be -

@) 792 @) 297
@ 279 @ 972
9.2 . 'qpf Tlé ?ﬂT?% FI P21 The fraction of given figure is -
=) 1/2 (& 1/3
@ 3/1 (@) T EEE
9.3 EEA 137 § 3 F €AW A E| The place value of 3 in the number 137 is -
(37) 300 (&) 30
® 3 @ 137
94 146 § 4 T THIERR 9901 &FT1 The Ekadhiken Purven of 4 in 146.
(%) 256 @) 246
@ 156 @ 641
U.5 THRUIHAM....... &1 8 | The measure of a right angle is .......
) 360" @) 180°
@ 45° @ 90°

9.6 FA()T | zero (0)is-
() Hud HPT?? &1 / Positive integer number
G Tﬂ% &1 / negative integer number
(/) ¥ 9 U T 9 QUIE / neither Positive integer nor negative integer
@ TWHH F13 &l / none of these
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U7 TS R FHM ..... 18/ The measure of a straight angle is .......
1) 180° @)  50°
@) 90’ @  140°

9.8 EEdI2.3 2N 3.2 FI SIS W ANTRS FN A &M /What  will be the sum
obtained by adding the numbers 2.3 and 3.2?

=) 24 @) 55
®) 6.5 @ 5.6
N9 4 T GHMA 3F EFTI 4 will be a Parammitra digit.

@) 2 @ 3

®) 6 @ 7
9.10 3 T3 A A &F1 /the value of 3 tenths will be.

@) 03 @ 3

@ 30 @) T A wE T
s Tl 1 gid T/ Fill in the blanks. 5x2=10
11. 9 1 TRIHA ............ & | The Ekadhiken of 9 will be ............. (0/10)
12, 79 3 T TR0 O (g WA & T T oo FEHA & |

(Serae] T/ FHT=R @)

When two lines intersects each other at a point, then they are called ..............

(Intersecting Line / Parallel Line)

SN

13. €& @ WO F 0 SEH QO ... HEAT & E | (99 YU / SROT qUITE)
The integers to the right of 0 on the number line are ................ numbers.
(positive integer / negative integer)
Y14 THFEE TS R L e FEd & | (qea fea / 31ged faeel)
The fraction having same denominators are called as ................ Fraction.

(like Fraction/unlike Fraction)
915 &S Hsolve: —4+2 =
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A /19 ddisQ / State true or false.

16. 916 Uca 99 H A1 IGH! 91 F M1 2 |

The diameter of each circle is half of its radius.

SN D

17. oM F T R T Ed & |

All the edges of the cuboid are equal.

18. a1 H UcH® HIU TRV &l & |

Every angle in a square is a right angle.

19. 1 FRSMIET = 100 HIEX / 1 kilometer = 100 meters

5x1=5

-

20. G @ H ¥ qUTieh SEAT A SRUT qUIS: ST 0 (R[F) % W (S) Red &ar g |

On the number line, 0 (zero) lies between positive integer number and

negative integer number.

& Shst EHT%%Q / match the colom
21. fopon® g

Vinculum's sign
22. @ H GRAM
Perimeter of square

23. HHETA # g
Symbol of proportion

24, U F 30N
Vertices of cube

25. YA AU/ Acute angle

(1)

(W)

()

(%)

(%)

90° & FH
less than 90°

4 x =Tl
4 x side

(i)

8

T F5q H S {SRaT | Write the answer in one word.

26. 3 TH L@ TH-gE % TR &1, 99 § {E FESTd 8 |

When two similar lines are parallel to each other, they are called as ?

27. % RS H G fosfaw |

Write the formula for the area of square.

N b SN e

28. RIS H fohd @I TR RV &I & ?

How many sides and angles does a triangle have ?

5x2=10

5x1=5
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29. TEY TE! FHUTCHF qUITH ST FA-H 2 |

Which is the largest negative integer number.
30. Frgst % il RO %1 AW fhdeT &I |
What is the sum of the three angles of a triangle.
S RCPEAHREET Very short answer question 5x2=10
31. ®SH/ simplify : 10-2-1+3
32. fhiva R ®13 1/2 % fawe i & agfos |
Convert the mixed fraction 3 1/2 into improper fraction.
33. s g Wi SR {1 2tfehd |
Draw a circle and mark the following.
31) IEH heg Its center 9) e Radius

34. UE TUAIS & U 14.5 SN 79 € I6A 6FS H 4.5 S 79 99 A1 79 T TS
% 9T /Y fha- S1e¥ g9 791 |/ A milkman have 14.5 liters of milk, he sold 4.5
liters of milk in the Gurukul. Then how many liters of milk left with the

milkman.

35. [ TEEY | / Subtract the following.

A 32-12 =
a9 32-(-12)=
FYSTUE 9= /short answer questions 5x4=20

936 Al M F SR 3 Higt U el 4 HigT & o, 3T9d H1 &5 fhael &9 | /If the
length of the rectangle is 3 meters and the breadth is 4 meters, then what
will be the area of the rectangle?

937 AR A TR A H 1/4 q FEE 3/4 Al % TS B HSEARL A1 gl
ST [Shal TSI &l F:5Ed FFT1 | / Avinash memorized 1/4 and Vikas 3/4 of
Gita's verses in a month, then how many shlokas both of them have

memorized together.
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U.38 SRR SN A 3 R 3T, 1 6.3, THIET 3T 250 1. fort @ligan &, ot aaretl Ie-
fohde f. 2. ®esil @lG11 / Akash bought 3 Kg, Potato 1 kg, Tomato 250 gms of

chili from the market, then how many kilograms of vegetables he bought?

9.39 aﬁﬁmﬁ%omaﬁm 154 | / Make an angle of 900 with the help of

Chanda.

940 1 AW @A § F1 IF=R & |/ What is the difference between square and
rectangle.

QoS vz Long answer question 10x2=20

941 T %Y 5 Q.. B, 4 a1 w1 GRAY AR SRS 1 Hifel
The side of a square is 5 cm., then find the perimeter and area of square.
942 RIS &l GReAT fsRaa qen BRIt & SR aarsd |

Write the definition and types of triangle.
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